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Question #62

Which two ports are used by a transport node to communicate with the management and control planes in NSX-T
Data Center 3.0? (Choose two.)

A. 5685
B. 1235
C. 5671
D. 5678
E. 1234

Answer: CE 

Question #63

A DevOps user has deployed a Kubernetes Pod in vSphere.
What does the term ClusterIP represent within NSX-T?

A. Deployment of T1 with NLB service.
B. Deployment of Distributed Router.
C. Deployment of Distributed Load Balancing service.
D. Deployment of T0 and T1

Answer: C 

Question #64

How many IPs are required when deploying a highly available NSX Management Cluster with VIP in a production
environment?

A. 5
B. 6
C. 3
D. 4

Answer: D 

Question #65

A company is deploying a NSX-T Data Center micro-segmentation in their vSphere environment to secure a simple
application composed of web, app, and database tiers.
The naming convention will be:

 WKS-WEB-SRV-XXX
 WKY-APP-SRR-XXX
 WKI-DB-SRR-XXX

What is the optimal way to group them in order to enforce security policies from NSX-T Data Center?

A. Create an Ethernet based security policy.
B. Group all by means of tags membership.
C. Use Edge as a firewall between tiers.
D. Do a service insertion to accomplish the task.

Answer: B 



Question #66

Which to steps must an NSX administrator take to integrate VMware Identity Manager in NSX-T to support role-
based access control? (Choose two.)

A. Create a SAML authentication in VMware Identity Manager using the NSX Manager FQDN.
B. Add NSX Manager as a Service Provider (SP) in VMware Identity Manager.
C. Create an OAuth 2.0 client in VMware Identity Manager.
D. Enter the Identity Provider (IdP) metadata URL in NSX Manager.
E. Enter the service URL, Client Secret, and SSL thumbprint in NSX Manager.

Answer: CE 

Question #67

An NSX Administrator has created a segment named WEB-LS from the NSX UI and noticed the segment is not
realized on the KVM Transport node.
What are two possible causes for this issue? (Choose two.)

A. The KVM Transport node has hardware issues and will not realize the WEB-LS Segment.
B. Since the Compute Manager is disconnected in NSX UI, the WEB-LS segment will not be realized on the
KVM Transport Node.
C. The virtual machines running on the KVM Transport Node are connected to the WEB-LS segment, but are in
Powered Off state.
D. The virtual machines running on the KVM Transport Node are not connected to the VDS.
E. The virtual machines running on the KVM Transport Node are not connected to the WEB-LS Segment.

Answer: BE 

Question #68

Which TraceFlow traffic type should an NSX administrator use for validating connectivity between App and DB
virtual machines that reside on different segments?

A. Multicast
B. Anycast
C. Unicast
D. Broadcast

Answer: C 

Question #69

When running nsxcli on an ESXi host, which command will show the Replication mode?

A. get logical-switch <Local-Switch-UUID> status
B. get logical-switch <Logical-Switch-UUID>
C. get logical-switches
D. get logical-switch status

Answer: B 

Question #70

Which profile must be attached to the ESXi cluster to prepare the host for NSX-T Data Center?

A. Transport Node Profile
B. Uplink Profile
C. Switching Profile



D. Host Profile

Answer: A 
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